/DVIRB
*UXSD 5RINiDG =33 O @G-/ 7\

7N 7] 7N 7N 7\6]
(GXNDFID HNRIRJ Z SUTHGVINR! LND |, .., (GXNDFID HNRIRJIF]QD Z
OHIRG\ DNNZL]XIgFH = GU -DUJ\EVAD JHQD" = =33 ODiH IRUP\ VFHQIF]QH = ]10:DQID 1ZYUF]H Z SUTHGVINRIX LZ N0, ..,
iZ GUKDE SIRI 2UGRQ 0o @:: 4Z GU-XV]FT\N 5\JD4R HGXN SUTHGVIN L Z G -DUJ\EVND UHQD
8WIXD = =330 -RDQQD = =330 ZFHVQRVIN "4Z G - =330
G- & 7\6] 3: & “XVIFT\N 5\JD:R G- &
= -RDQQD = =330
(GXNDFID HNRIRJ Z a
= G - SUTHGVINRY LND | ,,, = G G- &
a 5R]Zy! IRIFJQHIR P\HQLD G]LHFL Z DUJ\EVND UHQD =
oy ZIHNX SUTHGVN | ZFJHVQR = GU 330 (3: :
I KDE SURI 8- 5\JDi *IDT\QD =
o 2330 (@:- ¢ 7\G]
& = 6HPLQDUXP PDJVIHIVNH
Z Gl _UXVIHZVND
5R]Zyl RIFJQHIR SHNVDQGUD = 3 3 O
P\GHQLD G]IHFL Z ZIHNX @G: -
SUTHGVIN L ZFJHVQR = S
GUKDE SURI 8- 5\JDi
*DT\QD = =33
(0] (@G: =
7N 7N
3HGDJRJIND SRUyZQDZFID UZ Gl 3HGDJRJIND SRUyZQDZFID UZ Gl
=DIDV _DIDY]\QD = =330 =DIDV . DIDU]\QD = =330
(=& G: &
7N 7N
3HGDJRJIND SRUyZQDZFID Z Gl 5R]Zyl IRIFJQHIR P\GHQLD G]LHFL Z
=DIDV . DIDI]\QD = =330 ZIHNX SUTHGVIN L ZFTHVQR iZ PJU
@G- & Y%RIRZIHFND $IQHVIND = =33
0 @B:&
7N
3HGDJRJIND SRUyZQDZFID UZ GU 76l
=DIDV _DIDY]\QD = =330 5R]Zy! IRIFJQHIR P\GHQLD G]LHFL Z
G- & ZIHNX SUTHGVN | ZFJHVQR iz PJU
> Y%RURZIHFND $IQUHVIND = =33
T 0 (3:&
oD
T
N 7\6]
OHIRG\ DNNZL]XIgFH
76l iZ GUKDE SIRI 2UGRQ
5R]Zyl 8WIXD = =330
IRIFIOHIR @G- &
P\GHQLD
GIIHFL Z
ZIHNX
SUTHGV]N L
ZFJHVOR
Z P
%RURZIHFN
D
$IQHVIND
330
3z &




/DVIRB

*UXSD 5RINiDG =33 O (B:z=7/7 7\J
7N 7N
=z
T
5 6HPLQDUXP 6HPLQDUXP
a PDJWVIHWNIH GU PDJWVIHWNIH GU
,’;‘ -XVJFI\N 5\JD4R - UXVJHZVND $HNVDQGUD
L -RDQQD = -330]|[=z330 (3:- =
CEl VDD
AN 7\G] 7\
(ZDIXDFID L RFHQLDQIH Z SUTHGVINRIX L 6HPLQDUXP PDJIVIHIVNH
N0, ,, = GU.UyllFD ODUD = -3 Z Gl .UXV]JHZVND 6HPLQDUXP
30 (@:- = $HNVDQGUD = -3 KPDDEJ g\/ﬁvslu \QLH' gU\JD'
30 (@3:: > - g
7\G] *DT\QD =330
(ZDIXDFID | RFHQLDQH Z SUJHGVINRIX L NIDVDFK , ,,, N (CERE
UZ GU .UyllFD ODUD = 330 B:- & (GXNDFID HNRIRJIF]QD Z SRNyl
SUTHGVINRIXLZ NI, ,,,
\G] Z GU-DUJ\EVND ,UHQD
(ZDIXDFID L RFHQIDQH Z SUTHGVINRIX L z =330
% N0, ,, = GU.UylFD ODUD = -3 G- &
= 30 (@:-:
O
=
n N .
3IDQRZDQIH NDUHI\ HGXNDF\IQR 1
1DZRGRZHI IDE  SURI QDG]Z (UIHH (ZDIXDFID |
9%HUQG -RDFKLP = =330 RFHQDQH
@G3:/ z
SUTHGVINR!
N Xl hgu’
(ZDIXDFID L RFHQLDQIH Z SUJHGVINRIX L “WAFD
NIDVDFK , ,,, iZ GU .UyllFD ODUD = obuD -
=330 (@B:-& -33
(0] @G:
04
©




